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Risposte

1.   258.478   

2.     100     

3.    92,72    

4.    6.536    

5.    1.000    

6.      10     

7.   822,135   

8.     100     

9.    322,8    

10.   11.117,5  

11.      10     

12.   20.886,9  

13.    623,9    

14.      10     

15.      10     

16.      10     

17.   337,369   

18.    762,57   

19.   38.131,8  

20.   781.242   

Usa le regole delle moltiplicazioni e divisioni decimali per completare gli spazi.

1) 258,478×1.000 =   258.478   

2) 812,57×    100      = 81.257

3)    92,72    ×10 = 927,2

4)    6.536    :10 = 653,6

5) 672.853:   1.000     = 672,853

6) 264,624×     10      = 2.646,24

7) 822.135:1.000 =   822,135   

8) 514,7×    100      = 51.470

9) 32.280:100 =    322,8    

10) 111,175×100 =   11.117,5  

11) 6.632,7:     10      = 663,27

12)   20.886,9  :100 = 208,869

13)    623,9    ×100 = 62.390

14) 670,64×     10      = 6.706,4

15) 8.145,5:     10      = 814,55

16) 7.624:     10      = 762,4

17)   337,369   ×10 = 3.373,69

18) 762.570:1.000 =    762,57   

19)   38.131,8  :100 = 381,318

20) 781,242×1.000 =   781.242   
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